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0 =3300

POBRAVIS GO RS DYE = — 712

141.16 23.50.&%¢

11) (2, 3) &(4, 1) WOTRY BT BROTR, FOTEROWD.
i) (x1, y)=(2,3). (x2,y2)=(4 1)
g d= \/(Xz —x1)2+(y2 — y1)?
d=,/(4-2)2+(1 - 3)?
(2)2+(-2)?
d=V4d+4=+V2x4
d = 2V2 roTRRD

12) A (2,3), B (4, k) & C(6,-3) wombrieh #3¢ Seamnizamnasd k BSobms, 8omiam0mmd.

02 =) 005 -1 +x00 -1 =0 (- amona Dreerm) 0 SAGIS)

%[Z(k ~(-3)+4(-3-3)+6(3-k)] =0

~[2(k +3) + 4(-6) + 6(3- k)] = 0

~[2k+6-24+18 - 6k] = 0

%(—41() =0

k=0

13) 2*-3x+5=0 RF 30T TRY HRSRLR, Jeew.
29 a=2,b=-3 WA c=5
30¢38 A=b’-4ac

= (-3)*- 4(2)(5)
=9-40
=-31<0 DR LT 1 LRI Sogjémﬁo
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14) 3x* -5x+2 =0 I BRCTTLITRY, BRZH BTODROT F0T&ROXD.
a® ax? + bx + ¢ = 0 SRTTYS.
a=3, b=-5 ¢c=42 X 5+vV1

-b+Vb2-4ac 6

eONH X = _ 5%1

2a X
y = ZCOHCHBED) 6°
- 2(3)
5+V25-24

6
X = ———— =1orx=
6

orx =

4
6
2
3

15) 20m Bty Baerdcd &R PO NeosY 18km/h e, ¢ dacrdotn Trwd

SHoRN 24 km Bed BOXW, ¢ TRIBARS SeTOT MEE boddnws IRwERHE XHohs o3
2,00 o TNt TMTC TeRw HHET, FORLROWD.

Dooms w® = x km/h
DB ATTN Beesdod Fert = (18 — x)km/h
Do®3, dPDToN Beesdod Ben = (18 + x)km/h
24 not3

m&% DTN 3OTED TBReed 37?63@.@%3%55 BEVOD = =

o3, SINDTN BOTD Bpesd IADIART Tod =
24 24

— =1, .
18—x 18+x

24(18 + x) — 24(18 — x) = 1(18 — x) (18 + x)
432 +24x — 432 +24x = 324 —x2

48x = 324 — X2

-x*>+324-48=0 x (-1)
x%>+48x—324=0

9w ax?+ bx + ¢ = 0 SeIRAB.

a=1 b=48, «c¢=-324
—b+Vb2—-4ac
DPRONRD X —-————?a;————
_ —(48)+/(-48)2-4(1)(-324)
= 2(1)
o —481/2304+1296

& & (&

&

24
18 +x

not3

&

2
—48++/3600

2
—48160

_ —48-60
~ 2
_ -108
aIThH
x = —54

Tomad ww =x = 6 km/h
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16) c0s38" c0s52° — sin38° sin52° = 0 oo 3ecd2.

LHS = cos38° c0s52° — sin38° sin52°
= c0s38° c0s52° — sin(90 - 52°) sin(90-38)°

c0s38° c0s52° — c0s52° cos38°

cos38%eos52" — co552%e0s38° =0

1+sinA
. =sec A+ tan A
1-sinA

1+sinA X1+sinA
1—-sinA 1+sinA

. jd+sinp)®
1-—sinZ2 A
(1+sinA)?2 _1+sinA
cosZ A cos A

1 4 sin A
cos A cos A
= secA + tanA=RHS
18) RACTHTT TWAOTW 30M [ARTT ROT O 0T WOTINOT, NACTLTT

BOCHT, BRCRWR YOOI WOFE dresw 30 TS Recmhn HITIB
FOT & ROWD.

ReDTT 2T = AB =nh39.
RREDTT TTOOT VORINDE B3 BC = 30m

oondees AABC odg,

tan30° = A8
BC
1 —

s 30
= AB=£= 10v/3m

19) 100mM HTTITHLSE 20T DT oW eOVOT WTWT 20TWE WACHY [T TT
TRAMLAE BT 3eIR 30” T3y 45" SNT. 2o TR BILOT TANT

2OVACHYTS TRHNY SBIT BATHD, 30T&HRRO (V3 F1.73 0% W)

233 : AABC ZACB =45° /| AABC ZACB =30’ 5
AB

AB
tanf@ = — tanf = —
BC BD

00

tan 45 — 10 tan30 = —
BC BD

100 1 100

= BC N BD
BC= 100 BD= 100V3

TEORY IS Fwed =BD - BC= 100v/3 - 10 = 100(1.73)-100 = 173-100 =73m
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20) 33 R deRTL BT DITFD 3REFBOOT VT Jpeshos [TOHOCHE, BOTEWRORD.
SN oST

5-15
15-25
25-35
35-45
45 - 55

mgd :
XM 08T X fx
5-15 10 40
15- 25 20 60
25-35 30 180
35— 45 40 200
N=2 > fx =580
19) 835 NS TIO3NOR WTOFRTY, FOW LROWDO.
w™NOF 03T esweg
0-10 6
10 - 20 9 — 1, 20 + [—==2—| x 10
20 -30 15 «—f; 20+[ e ]xlO
30 - 40 9 «—f, i
40 - 50 1 20+[E X 10
N =40 =20+ 2
12
=20+ 5
= 25
21) 3 $NAT e.-swdg NSTE é.@cags%%& mmsow?»& TOT&LROWO.
SMeFo3T 0—10 10-20 20-30 30—40
58 9 15 14
emgcﬁ :
CSIPECES) AouS B | - pe03acha smerogs =20-30,
(cf) =20, h=10, cf =13, f=15
0—10 4 )
10-20 13=cf .02 :z-+F““]xh
20—30 28 " 4
30—40 14 42
40—-50 8 50
n=50
n=50 ~n/2=50/2 =25

ol fi—fo
wOs = [ + [—Zfl—fo— fz] i

25-13
15

=20+[

]x10

=20+Eﬂx10
=20 +—=

15
—20+8

=28
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22) 3cm gz:sssdaw mmwwm& 0N 9m engzs WOTH AOOTOTOTTT 30303:@0@
TORIFIIRNE. TMET BRTZ 030k SR, FOwWROWD.

20030
FTFIF©

r—rieedd 3 R—290@03 &%,
200ROT FPIFY = RRCYT FRFO

TR?h = %m’g
R2h =243
' 3
R2 x 900 = g x 33
R2 = 2 x 32
a00
4

R? = X 9

900

60cm gz:.ﬁad:s oPFieedsd TEE ed 120 cm 238 = 60cm gzsésab& BROTHT
8es :’.gg B3Pl so&wmd BRERTOINT. BOTRLIFTON VCONCT OVTW N¢T a‘agmd 200BOTY

3@:15334 JoepFed VecdwEn B a?m%éoﬁamd SnHNBNG. 200ROT gzzéw) 60 cm =02 230
180cm T8 200ROTQ LHYRTHT VeOT JFIEOTT, F0WWROWD.

2O0BOT &%, r=60cm; 283 h=180cm
BoBDT &, 283 hy = 120cm
2900BOT FIFw = nrih

= %x 60 x 60 x 180 =2036571.43cm’

3008 JIFe = ganhl
= 2 x20x60x120= 452571. 43cm’
OFPFRROT PIPO = gnr3
- g X ? x 60 X60 x60 = 4525571.43cm’
- 2A00BOTY NPT A

2036571.43 — (452571.43 + 452571.43)

=2036571.43 —905142.86
=1131428.57cm’® = 1.131m’
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